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M : t / p Do / Z 

M1 : M x (R - b) / R

Z : Do / M Da / Z #SAYI/0!

Z2 : Do / M Da / Z #SAYI/0!

Tana : Z1 / Z2 Do1 / Do2 0,000

t : p x M Do x p / Z

Do : M x Z t x Z / p

Da : Do + (2 x M x Cosa)

Df : Do - (2,334 x M x Cosa)

Do1 : M1 x Z

Da1 : Do1 + (2 x M1 x Cosa)

Df1 : Do1 - (2,334 x M1 x Cosa)

h : M + (1,167 x M) 2,167 x M (13 / 6) x M

h1 : M

h2 : 1,167 x M

b : R / 3

Sk : 0,167 x M

B : d + c

A : G + J

R : Do / (2 x Sina)

G : (Do / 15) + 6

J : (M1 x Sina) + (Cosa x b)

c : h x Sina

L : R x Cosa

K : tana= h1 / R

F : tana= h2 / R

d : (Cosa x b) - (M x Sina) - (M1 x Sina)

bn : Helis Boyu

bt : Helis adımı

Radyan Tan cos sin

0,0000 0,0000 1,0000 0,0000

Bilgi girilecek alan
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